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1. dangerous 2. waste 3.prize  4.quizzes 5. chance
6. latest 7.serious 8. gray 9. report 10. bright
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1. Ella is as tall as Jolin.

2. Annie is the most popular of the three girls.
3. Stella drinks a lot of water to make herself healthier.
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1. On average 2.feed on grass
3. live in groups 4. blow / blowing down several trees
5. tying up 6. Millions of ants appear

7. stay on the ground 8. miles away
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1. restaurant  2.show 3. coupon 4. dumplings 5. date

6. sells 7. bottle 8. November 9. blender 10. chocolate
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11. It’s on July twenty-fifth.
12. How much milk does Shawn have every morning?
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13. Mother’s Day is on the second Sunday of May.
14. What do you need ? | need three bags of flour.
15. Which do you like, Chinese food or American food ?
Which one do you like, (7= 7% )
16. Mom takes care of me 24 hours aday , 365 days a year.
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